“YellL

88128 B&8Na/hER
Ja=R
AR 3ZB3
BsLWUA RiI
KT S¥E
BsLLUA SRIK
REFm
iS{E! AJ—k T-0 &=
1 9:30~ S vs BWUA Ss¢E KT AEmE
2 1020~ shKT V'S NEFE BSWUA SwE japil
3 1110~ S¥%E VS apil SR T A& EES
4 1200~| K%H@ V'S IS AT BSLLUA SkE
5 1250~ BSWUA vs SkE NEFEE AT INKT
6 1340~ japil (VS MK T S BSLLUA SkE
7 1430~ KHFRm vs S¥E BSLUUA IS BT
8 1520~ IS Vs japil SwE 9NKT BLWUA
9 610~ IRKT vs BUUA IR IS AEEg
iS{E! BO—k T-0 &=
1 9:30~ S VA 9lh K BSLLUA | BSLIUA pod:3
2 [1030~| BWLUA vs pV4ES e ES] S 9K
3 180~ 9= VA podi: gihK BSLLUA P18
4 [1230~| 9K vs BWLUA B3 S pV4ES
B K =&

5 1350~ SRS Vs 9K SUER SO BESLUA
6 |1450~| BWLUA vs S 9K 5K pod:3




